STM POWERSPORTS

STM POWERSPORTS [SWASIVl STM POWERSPORTS (S8 S0

RAGE 4YWSP 30MM RAGE 4WSP 30MM RAGE 4WSP 30MM
STM Powersports Pneumatic Primary Clutch Part Number 1001645 STM Powersports Pneumatic Primary Clutch Part Number 1001645 STM Powersports Pneumatic Primary Clutch Part Number 1001645
US PAT. 10,744,944 B2 US PAT. 10,744,944 B2 US PAT. 10,744,944 B2
Item No. Part Number Description Qty.
1 VH131 Bushing Retaining Clip 1
2 1816 Bushing for Cover Stop 1
m DO NOT loosen black bolts holding cylinder together!
- 3 1001564 Pneumatic Primary Cover Stop-SHCS Style 1. & @ @
4 1001561 Snowmobile Primary 4 & 8 Arm Cover Screw Set (Torque to 125 in/Ibs.) 1 - D) | e | /({;;c
Screws D) | - [ e
S 92196A534 Y4"-20 x /16" SCHS Screw for Pneumatic 3 \'ﬁ/) © ‘ @) | |
6 1001625 Pneumatic Rage 4WSP Lock Up Primary Cover 1 ({ \Q;@ ) 1
I 3001005 Spider Nut Rage Primary (Torque to 550 ft/Ibs. use red Loctite®) 1 \@ Q/ T 4 3 4
@ 8 1001608 Rage 4 Wide Arm Spread Pin ATV Spider (Torque to 500 ft/Ibs. Use green 638 Loctite®) 1 1 /
9 1001629 RAGE 4WSP Snowmobile Primary Movable Sheave 1 Q
i [ 10 96 /0K23 Pneumatic Primary Steel Lock Up Ball 6 \\\
/@ 11 1001335- sold only with line 13 Pneumatic 30mm Post 1 1 TO TOP OF CYLINDER ks
3 TO BOTTOM OF CYLINDER 100 P31 SOURCE
Ll_k_LI_II 12 100152 7- Belt Shim for Primary’s with 1.875" Dia. Post 1
| ? T-/@ 13 1001336- sold only with line 11 Pneumatic Fixed Sheave Blank 1
Jﬂ & 14 91255A275 Plunger Retaining Screw 10-32 x 1.5 BHCS 1
23
15 R32RS Pneumatic Clutch Plunger Bearing 2
16 1001312 Pneumatic Lock Up Plunger Bearing Spacer 1
T
. 17 1001280 Pneumatic Primary Plunger 1
UL = ic Pri iy
k‘ﬁ\ﬂlll@f}‘@ @ , | 18 1001293 Pneumatic Primary Plunger Shaft 1
— @ 19 1001290 Pneumatic Primary Bearing Base (Torque to 75 ft/Ibs.) 1
"=|I|.lE| 20 1001286 Pneumatic Primary Bearing Block 1 ITEM # PART NUMBER DESCRIPTION QTY
(20)- - 21 R18-2RS Pneumatic Primary Bearing Block Bearing 1 25 €24005D Pneumatic Primary Cylinder 1
ﬁ-———m} : . : ; ; 2 ME14-18N Pneumatic Primary Air Tube Fitting O
22 91985A261 P ticP B Block B S Ring. 1 . - . . -
nermare rlmary-/ e::-lrlng oc_ FRIIS ORR ITNE 3 PT 14-316 NAT Pneumatic Primary Air Tubing 10 FT
23 1001292 Pneumatic Primary Cylinder Mount 1 4 MSC-05681499 Pneumatic Primary Air Valve 1
ﬂ‘ 24 91306A345 Pneumatic Clutch #10-24 x 5/s BHCS Button Head Screw Set 4
26 91251A351 Pneumatic Clutch #10-32 x 1.5 SHCS Socket Head Screw Set 4
* — —@ 27 1001449 1/2-20 X 3.965” Pneumatic Primary Clutch Bolt (Torque to 80 ft/Ibs.) 1
@ = 28 1001291 Pneumatic Primary Bearing Bolt (Torque to 60 ft/Ibs.) 1
] /1:],'[ 29 1001173 Rage Primary Quick Adjust Shim .030 1
:J/' - 30 1001004 Movable Sheave Bushing w/VH225 Retaining Clip 1
. 31 1001501 Pneumatic Primary Cover Stop Spanner Tool 1
T The following parts are included but NOT SHOWN on the breakdown:
1001498 Pneu. Primary Clutch Puller 30mm 1 1001032 Rage 4 & 8 Spanner Tool; 1
1001091 TRA Spring Spacer 2 | 1001580 Pneu. Clutch Cover Holding Tool i
1001569 Pneumatic Primary Compression Tool 1
1001643 4 Arm Wide Spider Rebuild Kit with 1 1001094 | Rage Primary Cam Arm Positioning 1
Composite Roller Bushings .610 Roller Adjustment Set Screw Set
Conversion Pin Options (only 1 size is included & used) qty needed: 4
1001604 5/16" Fixed Pin for .570 Wide Weight 1001606 | 5/16" Non-Fixed Pin for .470 Wide Weight
1001605 5/16” Fixed Pin for .4 70 Wide Weight 1001574 | 5/16” Non-Fixed Pin for .570 Wide Weight
5TM Powersports STM Powersports STM Powersports
(248)673-8408 (248)673-8408 (248)673-8408

WWWw.stmpowersports.com 9/13/2023 WWW.stmpowersports.com 9/13/2023 WwWw.stmpowersports.com 9/13/2023



http://stmpowersports.com/bushing-retaining-clip/
https://stmpowersports.com/1816-bushing-w-retaining-clip/
https://stmpowersports.com/stm-pneumatic-primary-cover-stop-shcs-style/
https://stmpowersports.com/rage-3wsp-tra-cover-bolt-kit/
https://stmpowersports.com/1-4-20x5-16-screw-for-pneumatics/
https://stmpowersports.com/stm-pneumatic-rage-4-wsp-lockup-primary-cover/
http://stmpowersports.com/spider-nut-rage-3s/
https://stmpowersports.com/stm-rage-4-wide-arm-spread-pin-atv-spider-no-spring-boss/
https://stmpowersports.com/stm-pneumatic-primary-steel-lock-up-ball-set-of-3/
https://stmpowersports.com/stm-rage-4wsp-snowmobile-primary-movable-sheave-w-turned-angle/
https://stmpowersports.com/stm-pneumatic-primary-fixed-sheave-and-post/
https://stmpowersports.com/stm-pneumatic-primary-fixed-sheave-and-post/
https://stmpowersports.com/belt-shim-for-stm-primarys-with-a-1-875-dia-post/
https://stmpowersports.com/pneumatic-clutch-button-head-hex-drive-screw-10-32-x-1-5/
https://stmpowersports.com/pneumatic-clutch-plunger-bearing/
https://stmpowersports.com/pneumatic-lockup-plunger-bearing-spacer/
https://stmpowersports.com/pneumatic-primary-plunger/
https://stmpowersports.com/pneumatic-primary-plunger-shaft/
https://stmpowersports.com/pneumatic-primary-bearing-base/
https://stmpowersports.com/pneumatic-primary-bearing-block/
https://stmpowersports.com/pneumatic-primary-bearing-block-bearing/
https://stmpowersports.com/pneumatic-primary-bearing-block-bearing-snap-ring/
https://stmpowersports.com/pneumatic-primary-cylinder-mount/
https://stmpowersports.com/pneumatic-clutch-10-24-x-5-8-bhcs-button-screw-set-4/
https://stmpowersports.com/pneumatic-clutch-10-32x1-1-2-socket-head-screw-4/
https://stmpowersports.com/1-2-20-clutch-bolt/
https://stmpowersports.com/pneumatic-primary-bearing-bolt/
https://stmpowersports.com/stm-rage-primary-quick-adjust-030-shim/
http://stmpowersports.com/movable-bushing-snap-ring/
https://stmpowersports.com/stm-pneumatic-primary-cover-stop-spanner-tool/
https://stmpowersports.com/stm-rage-primary-5-16-fixed-pin-conversion-assembly-for-570-wide-weight-wide-movable/
https://stmpowersports.com/stm-rage-wide-primary-5-16-fixed-pin-conversion-assembly-for-470-wide-weight-wide-movable/
https://stmpowersports.com/stm-rage-wide-primary-5-16-non-fixed-pin-conversion-assembly-for-470-wide-weight-wide-movable/
https://stmpowersports.com/stm-rage-wide-movable-primary-5-16-non-fixed-pin-conversion-assembly-for-570-wide-weight/
https://stmpowersports.com/stm-pneumatic-primary-clutch-puller-30mm-yamaha-triple-engine/
https://stmpowersports.com/stm-tra-spring-spacer/
https://stmpowersports.com/pneumatic-primary-compression-tool-30-33-35mm/
https://stmpowersports.com/4-arm-wide-spider-rebuild-kit-with-composite-roller-bushings-610-roller/
https://stmpowersports.com/stm-rage-primary-cam-arm-positioning-adjustment-set-screw-set/
https://stmpowersports.com/pneumatic-clutch-cover-holding-tool/
https://stmpowersports.com/stm-rage-4-8-spider-tool/
https://stmpowersports.com/pneumatic-primary-cylinder/
https://stmpowersports.com/pneumatic-primary-air-tube-fitting/
https://stmpowersports.com/pneumatic-primary-air-tubing-10/
https://stmpowersports.com/pneumatic-primary-air-valve/



